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•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 8 rFkk iz'u 30 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 30 questions. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k     tk;sxkAtk;sxkAtk;sxkAtk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 
lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %         
General Instructions : 

    (i)    lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     
        All questions are compulsory.    
 (ii) lghlghlghlgh mÙkj viu h mÙkj&iqfLrdk e sa fyf[k,A 
  Write correct answer in your answer-book. 

SET : B 
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[k.M [k.M [k.M [k.M –    vvvv     
     SECTION – A [ Marks : 10 

¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½ 

(PHYSICS) 

1. ,d xksy h; niZ.k dh oØ rk f=T;k 20 lseh0 gSA bldh Qksd l nwjh D;k gksxh \  1 

The radius of curvature of a spherical mirror is 20 cm. What is its focal length ? 

2. vfHkus= ysal dh Qksd l nwjh e sa ifjorZu fd;k tkrk gS % 1 

(A) iqryh } kjk  (B) i{ekHkh }kjk 

(C) n`f"ViVy }kjk (D) ifjrkfjdk } kjk 

The change in focal length of an eye lens is caused be the action of the : 

(A) Pupil (B) Ciliary muscles 

(C) Retina (D) Iris 

3. izdk'k ds vo;oh o.kksZa esa foHkktu dks ----------- dgrs gSaA 1 

(A) ok;qe aM yh; viorZu (B) fo{ksi.k 

(C) LisDVªe (D) izdh.kZu 

The splitting of light into its component colours is called …………. . 

(A) Atmospheric refraction (B) Dispersion 

(C) Spectrum (D) Scattering 

4. fo|qr vkos'k d k S. I. e k= d gS % 1 

(A) vkse  (B) ,sfEi;j 

(C) dwykWe  (D) oksYV  

The S. I. unit of electric charge is : 

(A) Ohm  (B) Ampere  

(C) Coulomb (D) Volt 
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5. fu Eufyf[kr esa ls dkSu-lk t So&ek=k ÅtkZ òksr dk mnkgj.k u ghau ghau ghau gha  gS \ 1 

(A) dks;yk  (B) xkscj xSl 

(C) ydM +h  (D) u kfHkdh; Åt kZ 

Which of the following is not an example of a bio-mass energy source ? 

(A) Coal  (B) Gobar-gas 

(C) Wood (D) Nuclear energy  

6. lkSj lsy  fdl rÙo ls cu k;k tkrk gS \ 1 

(A) yksgk  (B) ftad 

(C) flfydkWu (D) rk¡ck 

Which element is used for making solar cell ? 

(A) Iron  (B) Zinc 

(C) Silicon (D) Copper 

7. fu Eu e sa dkSu&lh xSl ck;ks &xSl e sa gksrh gS \  1 

(A) esFksu   (B) gkbMªkstu 

(C) vkWDlhtu (D) (A) o (B) nksuksa 

Which gas is present in bio-gas ? 

(A) Methane (B) Hydrogen 

(C) Oxygen (D) Both (A) and (B) 

8. cgrs t y ds ikl dkSu&lh ÅtkZ gksrh gS \ 1 

(A) fLFkfrt (B) xfrt 

(C) ukfHkdh; (D) Å"e h; 

Which energy is possessed by flowing water ? 

(A) Potential (B) Kinetic 

(C) Nuclear (D) Heat 
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9. fVgjh ck¡/k fdl u nh ij cuk gS \ 1 

Tehri dam is built on which river ? 

10. xaxk lQ kbZ ;kst uk dk vkjaHk izFke ckj fdl o"kZ esa gqvk Fkk \ 1 

(A) 1980 (B) 1985 
(C) 2005 (D) 2016 
The Ganga cleanliness scheme was started for the first time in the year ……… . 

(A) 1980 (B) 1985 
(C) 2005 (D) 2016 

[k.M  [k.M  [k.M  [k.M  –    cccc     
     SECTION – B [ Marks : 08 

¼¼¼¼ jlk; u foKkujlk; u foKkujlk; u foKkujlk; u foKku ½½½½ 

(CHEMISTRY) 

11. FeOAlAlOFe 22 3232 +→+  

Åij nh x;h vfHkfØ;k fdl izdkj dh gS \ 1 

(A) la;kstu vfHkfØ;k (B) fo;kstu vfHkfØ;k 

(C) foLFkkiu vfHkfØ;k (D) f}foLFkkiu vfHkfØ;k 

FeOAlAlOFe 22 3232 +→+  

The above reaction is an example of a : 

(A) Combination reaction  (B) Decomposition reaction 

(C) Displacement reaction (D) Double displacement reaction 

12. 'olu ,d ------ ------ vfHkfØ ;k gSA 1 

Respiration is an …………. reactions. 

13. dB ksj t y dks e`nq djus ds fy , fdl lksfM ;e ;kSfxd d k mi;ksx fd ;k tkrk gS \ 1 

Name the sodium compound which is used for softening hard water ? 
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14. dkSu&lh /kkrq de js ds rki ij nzo voLFkk esa ikbZ tkrh gS \ 1 

(A) Ag  (B) Hg 

(C) Au  (D) Zn 

Which metal is found in liquid at room temperature ? 

(A) Ag  (B) Hg 

(C) Au  (D) Zn 

15. eSX uhf'k;e dk bysDVªkWfud foU;kl gS % 1 

(A) 2, 8, 1 (B) 2, 8, 2 

(C) 2, 8, 3 (D) 2, 8, 5 

Electronic configuration of Magnesium is : 

(A) 2, 8, 1 (B) 2, 8, 2 

(C) 2, 8, 3 (D) 2, 8, 5 

16. nks ijek.kqvksa ds chp by sDVªkWu ds ,d ;qXe dh lk>snkjh ds }kjk cuus okys vkca/k ---------- dgy krs 
gSaA   1 

Bonds which are formed by the sharing of an electron pair between two atoms 

are known as …………….. . 

17. izksisu dk jklk;fud lw= gS % 1 

(A) C2H6  (B) C3H8 

(C) C5H12 (D) C4H10 

Chemical formula of propane is : 

(A) C2H6  (B) C3H8 

(C) C5H12 (D) C4H10 

18. dkcZu ijek.kqvksa ds chp dsoy  f}&vkca/k ls tqM+s d kcZu ds ;kSfxd  D;k dgy krs gSa \ 1 

Compounds of carbon which are linked by only double bonds between the 

carbon atoms are called ………….. . 
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[k.M [k.M [k.M [k.M –    llll     
     SECTION – C [ Marks : 12 

¼¼¼¼ t ho f oK kut ho f oK kut ho f oK kut ho f oK ku ½½½½ 

(LIFE SCIENCE) 

19. Loiks"kh iks"k.k ds fy, vko';d gS % 1 

(A) Dy ksjksfQ y (B) lw;Z dk izdk'k 

(C) dkcZu MkbvkWDlkbM (D) mijksDr lHkh 

The autotrophic mode of nutrition requires : 

(A) Chlorophyll (B) Sunlight 

(C) Carbon dioxide (D) All of the above 

20. -------------- os # f/kj okfgdk,¡ gSa tks #f/kj dks ân; ls 'kjhj ds fofHkUu vaxksa rd ys tkrh gSaA 1 

…………… are the vessels which carry blood away from the heart to various 

organs of the body. 

21. fu Eufyf[kr esa ls fdldk ogu ikS/kksa e sa tkbye Ård } kjk gksrk gS \ 1 

(A) Hkkstu  (B) ve huks vEy 

(C) ty  (D) vkWDlhtu 

Which of the following is transported through xylem tissue in plants ? 

(A) Food  (B) Amino acid 

(C) Water (D) Oxygen 

22. 'kjhj dh d'ks#d&naM ;k jh<+ dh gìh ----------- - dh j{kk djrh gSA 1 

The vertebral column or backbone which protects the ………….. . 
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23. is'kh dksf'kdkvksa eas fo'ks"k izdkj dh ------------- gksrh gSa tks mudh vkÑfr rFkk O ;oLFkk nksu ksa dks gh 
cny  nsrh gSA 1 

Muscle cell have special …………. that change both their shape and their 

arrangement in the cell. 

24. Likbjksxkbjk esa vySafxd tuu fuE ufyf[kr esa ls fdl fof/k ls gksrk gS \ 1 

(A) [kaMu   (B) f}[kaMu 

(C) cgq[kaMu  (D) e qdqyu 

Which of the following mode is involved in asexual reproduction in Spirogyra ? 

(A) Fragmentation (B) Binary fission 

(C) Multiple fission (D) Budding  

25. fu Eu e sa ls dkSu ekuo esa eknk t uu ra= dk Hkkx u ghau ghau ghau gha  gS \ 1 

(A) vaM k'k; (B) xHkkZ'k; 

(C) fMacokfguh (D) 'kqØ okfgdk 

Which of the following is not a part of the female reproductive system in 

human beings ? 

(A) Ovary  (B) Uterus 

(C) Fallopian tube (D) Vas deferens 

26. uj vkSj eknk e sa fdrus tksM +s xq.klw= gksrs gSa \ 1 

How many pair of chromosomes are in male and female ? 

27. ySafxd tu u okys thoksa e sa ,d vfHky{k.k dh thu d s fdru s izfr:i gksrs gSa \ 1 

(A) ,d  (B) nks 

(C) rhu  (D) pkj 

How many copies of a gene for the same trait are there in sexually reproducing 

organisms ? 

(A) One  (B) Two 

(C) Three (D) Four 
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28. 'kkdkgkjh dkSu&ls iks"kh Lrj  ij vkrs gSa \ 1 

(A) izFke  (B) f}rh; 

(C) r`rh;  (D) prqFkZ 

The herbivores come at which trophic level ? 

(A) First  (B) Second 

(C) Third (D) Fourth 

29. nksnksnksnks  Ñf= e ikfjra=ksa ds u ke fy f[k,A 1 

Name two artificial ecosystems. 

30. mPp  Åt kZ oky s ijkcSaxu h fofdj.k vkWDlht u v.kqvksa (O2) d ks fo?kfVr dj ------------ ije k.kq cu krs 
gSaA   1 

The higher energy UV radiations split apart some molecular oxygen into 

……….. atom. 

S 


